SL Paper 2

The map shows cities experiencing high or negative growth rates in countries with differing levels of urbanization.
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[Source: UN HABITAT Global Urban Observatory]

a. |dentify the two major components of urban growth. [2]
b. Referring to the map, describe the relationship between the level of urbanization and urban growth rate. [3]
c. Explain the pull factors associated with counter-urbanization. [5]
d. Discuss the challenges facing one or more cities experiencing rapid growth. [10]

The photograph shows Reforma Avenue, one of the most important streets in Mexico City.



[Source: Calderwood, M. In Cities and Society. Marsilio,2006]

a. Referring to evidence in the photograph, describe two types of environmental stress that are likely to affect the population of Mexico City. [2+2]
b. Identify three characteristics of Reforma Avenue that are likely to affect the urban microclimate and explain their effect. [6]
c. “Cities can never be sustainable.” Discuss this statement, referring to one case study. [10]
a. Describe what is meant by a “sustainable city”. [4]
b. Explain three ways in which human activities can modify the microclimate of an urban area. [B8x2]
c. Examine reasons why cities in some parts of the world have higher rates of population growth than others. [10]



a.i. Describe two differences between a circular city system and a linear city system.

a.ii.Outline how one transport management strategy can contribute to a circular city system.

b. Explain two reasons for the location of retail activities in the central business district (CBD) of one city you have studied.

c. Examine the consequences of the movements of different socio-economic groups within a city.

The false-colour satellite images compare the Pearl River Delta in southern China in 1979 and 2003.
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[Source: First image: Jesse Allen, 1979, Landsat 3 MSS, pearlriver_I3_1979292, GLCF, Maryland, 2012; Second image: Jesse Allen, 2003, Landsat 7 ETM+,
pearlriver_I7_2003010, GLCF, Maryland, 2012]

a. Describe the pattern of urban growth since 1979.




b. Suggest three reasons for the rapid growth of some cities.

c. Examine the factors that determine the socio-economic characteristics and location of residential areas within cities.

The diagram shows two contrasting city systems.
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[Source: adapted from www.dep.org.uk/scities/rationale/whylearn.php]

a. ldentify two possible additional inputs and two possible additional outputs for the linear system.

b. Explain why the circular system has a reduced urban ecological footprint.

[2+2+

(10]

(4]

6]



c. Examine the dominant population movements and their consequences for one or more urban areas.

a(i)Define the term megacity.
a(i)Explain two processes responsible for population growth in megacities.
b. Using only an annotated diagram, explain the operation of a sustainable urban system.

c. Examine the effects of human activity on the climate of urban areas.

The map shows part of a city in Asia. The scale of the map is 1 : 20 000. The contour interval is 20 metres.
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a. Using map evidence, describe two characteristics of Area A which suggest it is a high-class residential area. [2+2]
b. Using map evidence, suggest three reasons why Area B may be a suitable location for a manufacturing activity. [2+2+
c. With reference to one named example, evaluate the success of a strategy designed to manage pollution in an urban area. [10]

The maps show Clermont-Ferrand in France in 1979 and 2008.

Map 1: In 1979
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[Source: Extract from a map of Clermont-Ferrand produced by IGN (1979)]



Map 2: In 2003
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[Source: Extract from a map of Clermont-Ferrand produced by IGN (2003)]

ai. Define the term suburbanization. 2]
aii. Referring to map evidence, briefly describe two processes, excluding suburbanization, that have led to the growth of Lempdes. [2]
b. Referring to map evidence, suggest three reasons why an area of manufacturing has developed at point A (054113) on the 2003 map. [6]
c. Examine the pattern of urban deprivation in a city of your choice. [10]

The table shows the 21 megacities in the world in 2010 and their predicted rate of population growth between 2010 and 2025.



% ch i lati
Rank Megacity Country % c ar;gt: (;n 2%;2“ ation

1 Tokyo Japan 1

2 | Delhi India 29
3 | Sao Paulo Brazil 7
4 | Mumbai (Bombay) India 29
5 | Mexico City Mexico 6
6 New York-Newark USA 6
7 | Shanghai China 21
8 | Kolkata (Calcutta) India 29
9 |Dhaka Bangladesh 43
10 |Karachi Pakistan 43
11 | Buenos Aires Argentina 5

Los Angeles (including Long
12 USA 7
Beach-Santa Ana)
13 | Beijing China 21
14 | Rio de Janeiro Brazil 6
15 | Manila Philippines 28
16 | Osaka-Kobe Japan 0
17 | Cairo (Al-Qahirah) Egypt 23
18 |[Lagos Nigeria 49
Russian
19 | Moscow (Moskva) . 1
Federation

20 |Istanbul Turkey 15
21 | Paris France 4

[Source: United Nations, “World Urbanization Prospects, the 2009 revision”, http://esa.un.org March 2010]

a. State which megacity is predicted to grow most rapidly. 1]
b. Describe the global distribution of the megacities listed in the table. [3]
c. Using examples, explain why some large urban areas have much higher population growth rates than others. [6]
d. “Sustainable strategies in cities can only succeed when cities have zero population growth.” Using examples, discuss this statement. [10]
a. State four main characteristics of a central business district (CBD). [4]
b. Explain the processes of gentrification and counter-urbanization. [6]

c. Contrast the causes and effects of air pollution for two named urban areas. [10]



b. Explain two strengths and one weakness of one named city’s attempt to reduce urban pollution. [6]

c. Examine the effects of the movement of economic activity to derelict land such as brownfield sites. [10]

a. With reference to urban environments, describe: [4]

(i) one type of centrifugal movement;

(i) one type of centripetal movement.

b. Explain two features of the internal structure of the central business district (CBD). [6]

c. Evaluate the success of two different urban management strategies. [10]

The diagram shows the ways in which urban trees help to reduce environmental and social stress for the inhabitants of a major city. The numbers are

the estimated annual value of the benefits, in US dollars (US$).

Energy savings Improved Reduced Increased Other
($28 million) air stormwater absorption  ($52 million)
quality run-off of CO,

($5 million)  ($36 million)  ($0.8 million)

Benefit Benefit
A B

(environmental) (socio-economic)

[Source: adapted from “Tree Count Results”; New York City Department of Parks & Recreation, 2006, http://www.nycgovparks.org]

a. ldentify what Benefit A (environmental) and Benefit B (socio-economic) might be. [2]

b. (i) Define the term urban ecological footprint. [4]
(i) Explain how one of the benefits named on the diagram (excluding “Other”) would reduce the city’s ecological footprint.

c. Explain how human activity in cities may result in an urban heat island effect. [4]



d. Examine the reasons why economic activities (such as retailing, service and/or manufacturing industries) sometimes change location within an [10]

urban area.

The map shows the pattern of deprivation for Vancouver, one of Canada’s wealthiest cities.
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a. Describe the pattern of deprivation shown on the map. [3]
b. Explain how and why the pattern of deprivation might differ for a city in a low income country. [2+5]
c. Evaluate one or more sustainable strategies designed to improve life in urban areas. [10]

The graph shows changes in the amount of sewage produced and treated in a rapidly growing megacity.
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a. Describe the trends shown in the graph.

b. Explain three symptoms of urban stress.

c. “Urban poverty and deprivation are widespread in all cities.” Discuss this statement.

a. (i) Define the term suburbanization.
(ii) Briefly outline two possible population changes in an urban area where suburbanization is occurring.

b. Referring to one or more named cities, explain two ways in which humans affect urban air pollution.

c. Examine the effects of the movement of services and manufacturing activities to new locations in cities.

The graph shows fertility rates in 2006 for slum and non-slum areas in various African countries. Fertility is an indicator of poverty.

(4]
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a. Describe the differences in fertility shown on the graph. [4]
b. Explain three other social differences (other than fertility rates) between slum and non-slum populations. [2+2+
c. Evaluate the effectiveness of one or more strategies to control rapid city growth resulting from in-migration. [10]
b. Suggest two reasons for the occurrence of low-cost housing areas within cities. [6]
c. Evaluate the success of one or more strategies to control rapid city growth resulting from in-migration [10]

a. The graph shows the total population living in urban areas of different sizes, between 1970 and 2011. [4]
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(i) Estimate the number of people worldwide living in megacities (10 000 000 people and over) in 1990.

(i) Describe changes in the total number of people living in small cities of less than 500 000 people.

b. Explain two characteristics of the distribution of one named economic activity within one named urban area. [6]

c. “Managing a city sustainably requires a wider range of strategies than those that only limit its ecological footprint.” Discuss this statement. [10]

This Lorenz curve shows the distribution of wealth in a South American city.
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a.i. Describe what line A represents. [1]
a.ii.Estimate what percentage of the city’s total wealth belongs to the wealthiest 10 % of households. [1]
a.iiiReferring to the graph, outline the evidence that many households in this city suffer from poverty. [2]
b.i.Explain why people’s choice of residential location within a city might be influenced by their ethnicity. [3]
b.iiExplain why people’s choice of residential location within a city might be influenced by their family status (stage in lifecycle). [3]
c. Evaluate the success of one strategy designed to sustainably manage pollution in one named urban area. [10]

a. The graph shows population change in Detroit, a city in the USA. [4]
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Describe the changes in the size of Detroit’s population between 1900 and 2015.

b. Using examples, explain two push factors and one pull factor that help explain counter-urbanization movements.

c. Using examples, discuss the varied effects of human activity on urban microclimates.

The diagram shows the urban ecological footprint for two cities, A and B.

€O, from buildings Kev:
kg'person . -
5000 e C_:_q A
T T City B
CO_ from tramsport | S
kg person i
2500 R 1000 CO, from industry
. - kgz/person
7 e [ 5 a4 )
Solid waste T e T <+ Air pollution
kz/person N (particulates, PM_ ) kg/person
300
‘Water consumption
m*/parson

[Seurce: adapted from Sustainabie Urban Iyfrasouciie: London Edition — a view fo 2025 (2008), page 18]

a. (i) Define the term urban ecological footprint.

(i) Referring to the diagram, state which city has the larger urban ecological footprint and justify your choice.

b. Explain two ways in which urban air pollution can be reduced.

c. Referring to examples, compare the patterns of formal and informal economic activities in urban areas.

The graph shows population density in cities and individual emissions from transport.
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a. (i) Describe the general relationship between population density and air pollution from transport.
(ii) State why Mexico City could be considered an anomaly.
b. Referring to one or more named cities, explain two ways in which a circular city system operates.
c. Examine the characteristics of urban deprivation in one or more cities you have studied.
The figure shows information about urban deprivation for selected low income regions of the world.
AFRICA ASIA LATIN
Northern |Sub-Saharan| Eastern |Southeastern| Southern Western | AMERICA
Moderate Moderate High High Moderate
proportion proportion | proportion proportion [Vt
of slum of slum of slum of slum of slum
dwellers dwellers dwellers dwellers dwellers
Key:

[l Clearly improving conditions
[ Some improvement in conditions
B Deteriorating conditions

[Source: Slnternational Baccalanreate Orgamization 2013]

a. Outline the pattern and trend shown in the figure.

b. Explain three factors that influence the location of squatter settlements in urban areas.

c. “The rapid city growth caused by in-migration can never be controlled.” Discuss this statement, referring to one or more examples.

(4]
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The map shows the distribution of the neighbourhoods in an African city with low incomes and high population density.
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[Source: Adapted from P Guinness, Johannesburg — a city of acute disparity,
Topic Eye A-Level Geography 2014-2015 edition, page 11, published by Cross Academe Limited ]

a.i. With reference to the map, describe the distribution of neighbourhoods with low incomes and high population density. [3]

a.ii.Outline three possible economic reasons for the location of neighbourhoods with low incomes and high population density in the urban area  [3]

shown on the map.
b. Analyse the contribution of natural change to population density patterns in urban areas. [4]

c. To what extent has one named housing management strategy been successful in creating a more sustainable city? [10]

The graph shows rural and urban population as a proportion of total population for different regions from 1950 to 2050.
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a. (i) Identify the region with the highest proportion of people living in urban areas in 2014. [4]

(ii) Identify the region with the lowest rate of urbanization between 1950 and 2050.

(iii) Describe the change in the proportion of people living in urban areas in Latin America and the Caribbean between 1950 and 2050.

b. Suggest three reasons why different ethnic groups are often concentrated in different parts of cities. [6]

c. Evaluate the success of one management strategy to tackle pollution in one named urban area. [10]

The two maps show millionaire cities (cities with at least 1 million inhabitants) in 1950 and 2010.
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a. (i) Define the term urbanization. 4
(i) Describe the changes in the distribution of millionaire cities as shown on the maps.

b. Explain three reasons for the movement of named economic activities within urban areas. [6]

c. Examine the reasons why it is difficult to manage urban areas sustainably. [10]

The map and graphs show employment characteristics for the populations of two contrasting areas of Dublin, Ireland. Area A is a new residential area

on the edge of Dublin whereas Area B is an inner city location.
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[Source: adapred from A Maclaren, (1903), Dublin, page 174]

a. (i) Identify one group of working people that have been classified as “not formally employed”.
(ii) Distinguish between the main employment characteristics for the two areas shown.

b. Explain two population movements taking place within large cities.

c. “Most large cities suffer from a serious problem of urban poverty for which there is no solution.” Discuss this statement.

The map shows temperatures for Dublin, Ireland, at 22:00 during a winter evening.
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[Source: adapted from G O’Hare and J Sweeney, (1990), The Atmospheric System: an introduction to meteorology and climatology, page 31]

a.i. Describe the pattern of temperatures shown south of the River Liffey. [3]
a.ii.Estimate the temperature range north of the River Liffey. 1]
b. Using examples, explain two reasons for the growth of suburbs. [6]
c. Examine recent land use changes in the central and/or inner areas of one or more cities. [10]

The photograph shows part of the informal sector of the economy in King William’s Town, South Africa.



[Source: copyright Intemational Baccalaureate Crganization, 2015]

a. Using photographic evidence, outline two characteristics of the informal sector of the economy in King William’s Town.

b. Referring to examples, explain two factors that influence the location of megacities.

c. “Sustainable urban management is desirable but impossible to achieve.” Discuss this statement, using examples.

The map shows Nazareth, an urban area in Pennsylvania, USA. The scale of the map is 1:24 000.
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a. (i) Identify the economic activities located at 760122 and 736133.
(ii) State two reasons for the location of the sports stadium (Nazareth Speedway) in 7211.

b. Referring to map evidence, explain three likely types of urban stress in Nazareth.

c. Using one or more examples, examine the social and economic impacts of in-migration on cities.
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